REV MCO DWN DATE
E 20248444 JBC 11-SEP-08
F 20269009 JSL 1 4-JUL-09
N N
N
| 02 REF — PARTS LIST —
' 2X2 JUNCTION DESCRIPTION QTY
1 ADAPTER, 2X2/2" FLEX |
i JUNCTION, 2X? |
I 2" FLEX HOSE SEE TAB
| 60 REF FIBER RETAINING RING 3
, , ‘17 FLEX HOSE CLAMP |
= : 6-32 X 3/8 PH SCREW 2 .
ADAPTER, 6-32 HEX NUT 2
o FLEY HOSE\; : ekelz® FLEX STAR LOCK WASHER 2
| | CATALOG NO. COLOR | HOSE LENGTH
| | FGSB-MEX1-C-10F | BLACK 10 FT
CIBER RETAINING FGSB-MEX1-C-5F BLACK 5 FT
RING (3) | |
FGS-MEXI-C-OF YELLOW NONE 3
FGSO-MEXI-C-OF ORANGE NONE
FGSB-MEX1-C-OF BLACK NONE
FGS-MEX1-C-5F YELLOW 5 FT
FGSO-MEX1-C-5F ORANGE 5 FT
FGSS-MEX1-C-5F SMOKE 5 FT
FLEX HOSE CLAMP STAR LOCK WASHER 6-32 HEX NUT
(2) (2) FGS-MEX1-C-10F | YELLOW 0 FT
! FGSO-MEX1-C-10F | ORANGE 10 FT
\6_32 X 3/8 PH SCREW FGS-MEX1-C-15F YELLOW 15 FT
(2)
REF
FGSO-MEX1-C-15F | ORANGE 15 FT
PROBRIETARY 10 ABC ARD ShatL ° |
i B LA, Cotl el NSTALLAT ION DG
WITHOUTLWRITTEN CONEENT OI-I'NADé. | NSTALLAT | ON DWG
ARE TNCRES OnLoss NCES LXXIEN/A C  |PRAWING NUMBER F
OTHERWISE SPECIFIED ANGULAR:EN/A SIZE 1051770 REV
ENGR: T. HAATAJA
DO NOT SCALE DRAWING pEMSE—LEAALE SHT. | oF |
A A VAN DIMENSIONS_ IN INCHES
THIRD ANGLE PROJECTION




